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The following questions refer to problem #3 from Part I:

5. Using the cluster sample calculated at home, find a 95% confidence interval for GMAT scores.
Interpret the results of your interval. Do you think your sample is representative of the data?
Why or what not? (12 points)
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The following questions refer to problem #3 from Part I:

6. Report your 95% confidence interval for the difference of means. Is there a meaningful difference
between monthly expenses for the married and unmarried students? Explain. (10 points)
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Calculations in Excel: (1) 32 points, (2) 15 points, (3) 20 points, (4) 20 points.
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7. Fifty (50) simulated samples of 1Q scores are taken with each I‘f 4 different sample sizes.
wer the questions that follow.

with a table of summary statistics. Use this information to an

wilated 1Q|Scores, Sample Size 10 Means ’»ls;s.l‘;.alz’ﬂ 1Q Scores, Sample Size 20 Means

—-nlilflea )




Standard
Mean Deviation
Sample Size 10 98.7 4,708
Sample Size 20 100.2 3.198
Sample Size 50 100.4 2.481
Sample Size 100 100.2 1.529
Population 100 15
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14. Use the data in tl‘le data file for Exam #1 that matches your test. It contains data from a
marketing company about the brand they market, and their competitor’s brand. Find the
proportion of the sample that uses “our brand”. Find a 90% confidence interval and interpret
the result in context. (15 points) ’
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15. Use the data in the data file for Exam #1 that matches your test. It contains data from a sample
of men and women matched for similar experience, age, education and other factors.
a. Isthis data paired or independent? (6 points)
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b. Construct a confidence interval for the difference of means. (12 points)
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16. A 95% confidence interval is calculated from a sample size of 106, and it is found to be
(32.6,70.2), for the mean speed in miles per hour on a certain road in the US. What is the point
estimate at the center of this interval? What is the standard deviation of the sample from which
it was drawn? [Hint: use the confidence interval formula at the end of the exam to solve for a.]
(12 points)
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